
 

MATHEMATICS WORKSHEET 

INTEGERS  

Find the product : 

a) (-9) x (-2) x (-11) =____________________________________________ 

b) 7 x (-30) x (8 x 0) =____________________________________________ 

c) -11 x { (-9) x 0)} =_____________________________________________ 

d) { (-9) x 5} x (-3) =______________________________________________ 

Verify the following : 

a) (-5) x (8) = (-8) x 5 

 

 

 

b) {(-14) x 7} + (-4) = {(7) x (-4)} + {(-14) x (-4)} 

 

 

 

c) {(-3) x 4} x (-5) = (-3) x {4 x (-5)} 


